Maths Revision Test 1
Time : 60 mins
Max Marks : 30

Q1. Solve the following

« A

e then [3A| equals :

i a=

/

Thevalueof (eegyie 2 |- &Y 0|=[> %]
e value of (x+v) i L 5 =g g

2 marks

Q2. Find

dy

If y=e"sin x, then 5 equals :

i 3 6]
Find X and Y if X+Y=[O 9] and X=X = |5 _q|

2 marks

Q3. Prove that

lim('3—x'1]=l.
2

x—2 (2 - x)

3 marks



Q4
2

If y=e'sin x, show that a;—g— =2e%cosx.

3 marks
Q5

Find the value(s) of k if the following function f(x) is continuous at x = _‘;_r_ :

k cos x ™
o A ¢ $E
T —
f(x)= -
3. AR B
2
3 marks
Q6.
G s dy
fy=|x+—| + , find —.
X e =% dx
3 marks
Q7.
. QLS -1
Find the adjoint of the matrix A=| 1 1 —1 and show that A(adj A)=|A[I
-1 2 4 .

3 marks

Q8.



1—x
-1
Prove that 2 tan™ \/; = COS (1 e x}

3 marks

Qo.

2x%sih2x

d
Find —3;; if y=e

fd
4 marks
Q10
If y=sin(3sin"" x), then 24 is equal to
y , iy q

4 marks



